353

Hardware kit - SE@I Air Ducts

—

B N

N
)

Attaching points A, D.E = Bs—

Use: 11 pcs. Hex Head Tapping Screw

Attaching Point B

Use: 8 pcs. 1/4-20 x 1/2 Cap Screw
8 pcs. 1/4-20 Hex Nut
8 pcs. 1/4” Lock Washer

Attaching Point C
Use: 8 pcs. Hex Head Tapping Screw
8 pcs. 1/4” Lock Washer

Attaching Point F (Not used on ‘55’s)
Use: 4 pcs. 12-24 Hex Nut
4 pcs. External Tooth Lock Washer

Attaching Point G (Not actually used for Ducts but
needed to attach Scoops)
Use: 4 pcs. Hex Head Tapping Screw




